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1 State four methods of transmitting power mechanically in land-based power units. (4 marks)

2 Explain two reasons why a 1000 rpm Power Take Off (PTO) is preferable to a 540 rpm
PTO when using a 6m power harrow. (4 marks)

3 a) Describethe function of the differential lock on a tractor. (2 marks)

b)  State when the differential lock on a tractor should not be used and give one
reason why. (2 marks)
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4 a) Statetwo advantages of a turbo charger when fitted to a tractor. (2 marks)

b)  Explain how a turbo charger works. (4 marks)

5  Whatsize fuse should be fitted to a 600 watt hand drill working off a 240V supply?
Show all workings. (3 marks)
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6  Listfourresponsibilities of an employee, under the Health and Safety at Work Act
1974 (HASWA). (4 marks)

7 Explain why service intervals on tractors are carried out in hours rather than miles. (2 marks)

8  Listtwo features of
a) closed centred hydraulics (2 marks)

b)  open centred hydraulics. (2 marks)
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9 a) Explainhow double acting and single acting spool valves work. (5 marks)

b)  Give one example of a machine that uses

i) asingleactingram (1 mark)
i) adoubleacting ram. (1 mark)
10  State four potential hazards when using an angle grinder in a workshop. (4 marks)
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11 a) Whatmetal are hand files made of? (1 mark)

b)  Why should the hand files be kept apartin storage? (1 mark)

12 Aluminium and mild steel are unsuitable for making the vanes on a fertiliser spreader.

Considering the characteristics of the fertiliser, give two reasons why each of these
metals is unsuitable. (4 marks)
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13 Youare about to carry out a major service on a tractor in a land-based workshop.

Discuss the procedures you need to follow, before, during and after the service,

in order to carry out the task safely, in accordance with current legislation and
code of practice. (12 marks)
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